EER=R—ETiEt Y& i (&)

BYR%BE :$F3E10A148 (K)

[ Bk [ XIES
TN T

| migE |MAE| &5 | KE | BAH) k= migg  |MAE| £S5 | BE | @HAH) &5
4 i3 1 472| 501,600 |[3EiE4 e i3 7 692| 580,800
B k3 2 810[ 451,000
Es k3 2 861| 448,800
L4 i 4 745| 266,200 @ tE ~
3L4F i 5 822| 332,200 miEE  |MAA| E5 | AS (;kfalm)l i&E
EES k3 6 503 112,200 s i3 2 726| 765,600
4 i3 6 836) 299,200 it i3 2 797| 789,800
E k3 7 819 305,800 R i3 2 800 787,600
4 k3 9 661] 224,400 RHF i3 2 834 776,600

gt i3 2 858| 1,031,800

g i3 2 872| 1,049,400

X BELTVWSRBRIETEERIFTY,
X ENEHREFERRLTVEYS,




